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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
8 SR
= 1 41, 085, 891
LR
= 1 1,338,733
EEE IR T
= 1 1,338,733
I JE A (ol - BT ) A9 v477 RC-40 1 0 & 250
mm
m2 187 1,915 358, 105
g (8 - B ) FEAHLRIEET 227 (20) &fi%EE 50m)
m
m2 187 2,633 492, 371
F g (8 - B ) PSRBT AS (20T) &322 50m
m
m2 187 2,611 488, 257
Pk A& T
= 1 9, 206, 316
EE LT
= 1 558, 508
R D b 170m3
= 1 48, 909
MRL 130m3
= 1 349, 830
LR IE 250m2
= 1 100, 675
b TE b Cah ERIRY L&) 20m3
= 1 56, 580
B s AN T o ALE 20m3
= 1 2,514
LI
= 1 8, 647, 808

-1- [ rxmd A R




HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T E (A5
7" VA NURLRI T US3-B400-H400
m 416 13,598 5, 656, 768
RV 25 avp)-+# US3-B400JH
e 832 3, 595 2,991, 040
T A R it Rx 1
= 1 63, 294
B AT R L
= 1 63, 294
TR R AT T ESAM WiE ¢ 89X 1500 it
r-HERE
ZN 14 4,521 63, 294
AT EIEL
= 1 24, 061, 577
15 5 At L
= 1 24, 061, 577
15 =5 At & 4. 2m
m 168 123, 404 20, 731, 872
T ny), SR ELRE SHAEHT ¢ 355.6X6.4 FTIAES.5
#% 43 77,435 3, 329, 705
EmRE T
= 1 810, 571
S EUE L T
= 1 531, 747
av)) - M IS B L AT HEEY)
m3 37 7,506 277,722
EEERR YT TAT7VMESERR 15emBL T 420m
= 1 235, 872
A AR A TAT7WIMEHEERR EH2ERRIE 15embL T
m2 96 189. 1 18,153

-2 - [ rxmd A R




N 2

it

THEX Sy« TH - FERI - HH50 b -4 BT & G AT & | T (GEEM)
TEHRALER T
= 1 278, 824
Prau kil v -k (JER%)
m3 37 2,193 81, 141
Prau kil TAT 7V bk
m3 10 4,993 49, 930
ALy vy - gk (JER%)
m3 37 3,189 117, 993
ALy TAT 7V bk
m3 10 2,976 29, 760
% T
= 1 5, 605, 400
RImE T
= 1 5, 605, 400
ZRFE AR B R E R BA BRI EE 200 A A
= 1 3, 039, 800
ZRFE AR B RIBHE R BB B % 200 A A
= 1 2, 565, 600
B T HE
= 1 41, 085, 891
BTl TE:
= 1 6,271, 367
B ST ¢
= 1 1,542, 372
TR
= 1 1,018,719
T RR A oy PR ST A B Lzl
= 1 1,018,719
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
Htre m
= 1 53, 197
JE 9t R B E AR Y
= 1 53, 197
BUGERRYGER (5 1)
= 1 470, 456
HimE R (FE L)
= 1 4,728,995
Wi
= 1 47, 357, 258
BTk X=giiv oy
= 1 21, 282, 741
R 5]
= 1 68, 639, 999
— e
= 1 12,170, 001
T HAlik
= 1 80, 810, 000
THE B 2 %8
= 1 8, 081, 000
TG
= 1 88, 891, 000
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